plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

GLAZED FIBERGLASS SINGLE DOOR

w/ or w/o SIDELITES
INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Plastpro Fiberglass Door described herein complies with the 2006 International Residential Code

(IRC),

Sections R301 & Ré613 and the 2006 Intemational Building Code (IBC), Sections 1405.12, 1409,

1714.5, 2403 and 2404 (including Texas revisions) subject fo the following conditions:

[

2.

3.
4.
SUPP
1.

2

3.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base material
shall be beyond wall dressing or stucco.

This system has been fested and evaluated as a large missile impact protective system for installation
in the Seaward, Inland | and Inland Il areas. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E1996.

Allowable design pressure requirements must be equal to or less than the design pressure rating
shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

ORTING DOCUMENTS & EVIDENCE

Testing per AAMA/WDMA/CSA 101/1.5.2/A440-05 & ASTM E 1886/1996-05:

Testing Evaluation Laboratories, Inc. test report(s) #: TEL 01390242 & TEL 01390242-IC.
Calculations (Anchoring and Glass load resistance report ASTM E1300-04) prepared by Lyndon F.
Schmidt, P.E.

Certificate of Participation issued by the National Accreditation and Management Institute, Inc.,
certifying that Plastpro is manufacturing products within a Quality Assurance program.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel & glazing details

Sidelite panel & glazing details

Elevations

Horizontal cross sections

Vertical cross sections

pa—

98" MAX. OVERALL FRAME HEIGHT

|t

- INSWING -

—= 74.0" MAX. OVERALL FRAME WIDTH

37.25" MAX.
FRAME WIDTH

-

[EE——

98" MAX. OVERALL FRAME HEIGHT
- INSWING -

96" MAX. OVERALL FRAME HEIGHT
- OUTSWING -

96" MAX. OVERALL FRAME HEIGHT
- OUTSWING -

e E—

151.5" MAX. OVERALL FRAME WIDTH

~‘| 74.0" MAX. OVERALL FRAME WIDTH ’&
-

37.25" MAX.

RAME WIDTH 4

Vertical cross sections
Frame anchoring
Frame anchoring

edfec] R Ee £4,] E-N £ 1S )

XX

74.00" x 98.00"

21.00" x 79.0"

+50.0

Astragal & mulfi-point lock details
Bill of materials and components

ot | —
P )

OXXO

151.50" x 98.00"

-55.0

+50.0

-50.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATIONS, DESIGN

PRODUCT:

PRESSURES & GENERAL NOTES

BY

NOJ DATE

REVISIONS

DATE: 04./13 /10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

Gl
21.00" x 79.0"

+50.0

-55.0

+50.0

-50.0

DRAWING NO.:
TX—4073

sHEeT _1 oF 11

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, TX-4073

© 2010 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, 2-2

DOOR SKIN

N

EXTERIOR

Gl
FOAM CORE @

[/

/i
L

_ 3575'DOOR
PANEL WIDTH
. | 21.0"
| | D.L.O. WIDTH
4

=T

INTERIOR

71"\ HORIZONTAL CROSS SECTION

\2/

1
id \\ \2/ - _3/4' GLASS EXTERIOR
i BITE
% STRUCTURAL SILICONE 1" OVERALL
= DOW #995 « \2F GLASS THK, ]
& GLAZING COMPOUND . s
= : 1/8" ANNEALED GLASS
5 X BY QSO (TYP. 2 PLCS.| N / S e T L
L 7 = =
zZ5 . 1 SAFLEX BY SOLUTIA b %
o i
% o ] % ~ ;;—-—11’8 ANNEALED GLASS
o ) N R
8 b #8-6 PAN HEAD HILO SCREW |~ S s AR SPACE )
S 3 (SEE NOTE 1.) T 1/8" TEMPERED GLASS
)
T \\\ GLAZING SPACER
SCREW PLUG INTERIOR Aluminum
B 1) GLAZING DETAIL
ODL Lite Frame
—— 121" |=—
}_ h 1.58" +' T ‘ ; [e—a2.80—]
. DOOR PANEL & N : _‘
g - = 38—
FIBERGLASS DOOR SKIN: MIN. 0.075" THK. (Fy = 11063 PSI MIN.) - [ ! ) Y T ————
CORE MATERIAL: POLYURETHANE FOAM (BASF, MIN. 1.9 PCF DENSITY) = A % T —
? L I
. TOP RAIL o5 | LATCH & HINGE STILE 2 | LATCH & HINGE STILE
Cellular PVC Cellular PVC \gcg:aci _R%n}lfg;rcemen’r
'|- Ul
NOTE: ol = ' i
1. Spacing for lite frame screws is as follows: : o 125"

Sides: 4.5" from corners and 10.5" o.c. thereafter
Top & Bottom: 4.5" from corners and @ centerline.

80" r-—

BOTTOM RAIL
Cellular PYC

1.20"

2F ODL LITE FRAME

=~

2E STEEL REINFORCEMENT BAR

w/ Nylon Screw

DOOR SKIN
/.
(] l c ..
d
[]
Ni[=I/8E
I
INTERIOR /” EXTERIOR
J/
=11
G | |
V(Y
) .}\:‘\FOAMCORE
-
Y/
"

/" 2"\ VERTICAL CROSS SECTION

2/

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

o
S | =2
oa o
g:_u) =0
=37 T Bl
g |m (&)
I |F ==
or (W oN
L |7 99X
Lo < Q6
g e
2 o
|_
o o
& &
>=
m
%)
=
o
n
ol
¥
Lt
<
o
=
=
DATE: 04./13/10
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4073

sHEeT 2 oF 11

© 2010 R.W. BUILDING CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, 2-3

__35.75"DOCR
PANEL WIDTH

95.25" DOOR PANEL HEIGHT
79.0" D.L.O. HEIGHT

. SIDELITE PANEL

FIBERGLASS DOOR SKIN: MIN. 0.075" THK. (Fy = 11063 PSI MIN.)
CORE MATERIAL: POLYURETHANE FOAM (BASF, MIN. 1.9 PCF DENSITY)

NOTE:

21.0"
D.L.O. WIDTH

O

1. Spacing for lite frame screws is as follows:

Sides: 4.5" frorn corners and 10.5" o.c. thereafter
Top & Bottom: 4.5" from corners and @ centerline.

3F
DOOR SKIN

N

FOAM CORE

ﬂlelb

EXTERIOR

P

=

—J

INTERIOR [

®

m HORIZONTAL CROSS SECTION

2/

STRUCTURAL SILCONE
DOW #995

GLAZING COMPOUND
BY QSO (TYP. 2 PLCS.)

_ 3/4" GLASS EXTERIOR

BITE
3F 1" OVERALL
GLASS THK.

e e

e E o
SC
104123

S

#8-6 PAN HEAD HILO SCREW _L—

27—

1/8" ANNEALED GLASS
/ 0.090" PVB INTERLAYER
SAFLEX BY SOLUTIA

1/8" ANNEALED GLASS
=Z

% AIR SPACE
1/8" TEMPERED GLASS

-1 8" —l—-‘

4

(SEENOTE 1.)

SCREW PLUG

| I—*—]SS—-—I

TOP RAIL
Cellular PYC

@ BOTIOM RAIL
Cellular PYC

=

=

GLAZING SPACER

INTERIOR

GLAZING DETAIL
QDL Lite Frame

G1

- 1.58" =

STILE

@ Wood Reinforcement

(5.G. >= 0.42)

@ STILE
Cellular PVC

— &0 ‘—-—

STEEL REINFORCEMENT BAR
w/ Nylon Screw

INTERIOR

DOOR SKIN

/1
i
d
L]
Ni=| | s
)
I eaerior
gy ==
/
A= S
. .o D
Y /Y
\ FOAM CORE
S / S
I/
R / ]
e

m VERTICAL CROSS SECTION

3/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—11852

24 3
S | o3
oY= 95
o o X
o e o
=0 |5
23 |3 w®
22 |3 55
|7 &S
m < AL
gl * |
3 o
S 2
o o
>
m
%)
=
o
2
il
o
=
<
o
O
=
DATE: 04./13/10
scAle:  N.T.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4073

SHEET _ 35 oF 11

© zo10 R.W. BUILDING CONSULTANTS INC.



"ON| BANVLAINSNDOD 9NIGINg "Mm"d OL0oz2 @

2S8LL—4 # NOLVHLSIOIY 40 ILvDlHILN3D SNOISIAZS .
SHIINIONT WNOISSIH0¥d 40 auvod Svx3l SNOLLYATTI Ad J41vd [ON|© - 1._
L6L6°689°CLE "ON euoyd : NSy N,
S6S€E “14 OOMIDA OLZ Xod 'O'd Eﬂ&ﬁ AJEASSSY HO Livd i M « 3| °
*ONI ‘SINVITINSNOD ONIGINg V . g | 4_
4004 SSy19¥3ald o| |&|&lg =
g 04dLSYId a S k&
E£ZLFOLF "3'd SYX3L Bl2|g|x E i
‘3'd PIMYSS 4 uopuk]  :Ag pespdesd sjuenocg 119nQaodd HEIEE m 5

TRV w

z. £2150L .....?ﬂ
Frrsrsaens o adhaneed o~ w
% 1aINHDS zooz\ﬂl
G NOQNAL

et
.:;0«
\?: *
%{
f’z .
0¥ x

h\('h
v

ELEVATION (OXXO)

ELEVATION (XX)

~

-2 ‘BMP*dINT 94 0-8 XL\0TOZ SYXAL\sBumeia DMy "a\ZTST 4d\009T - TOST [oad\s1apjod 198(0.4d\5103[01d - W\DaMY\ENZSas\\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, 2-5

EXT. SHEATHING

0.15"
le— C'SINK
(TYP.)

o

7

(40)

®
_

A L T
VAN

7“1\ HORIZONTAL CROSS SECTION

Q/ Inswing shown - outswing also approved

SEE
NOTE 1

® o6

@[c>

/i

EXTERIOR
~
INTERIOR
EXTERIOR

7

7

IS wriy

INTERIOR

/~3"\ HORIZONTAL CROSS SECTION

\y Inswing shown - outswing also approved

EXTERIOR

INTERIOR

0.15"
C'SINK

(TYP.)

/i

SEE
NOTE 1

@/‘2@

\ DRYWALL

/" 2"\ HORIZONTAL CROSS SECTION

w Inswing shown - outswing also approved

/ EXT. SHEATHING

1.

OO
SO !-}\“‘hl
I ®e -
LSSoxTAinG by
»Tv-%,-". : g E ‘._"9‘
~.a‘f.- :
l:"'il_p & i L3
[k O
8 1) TN
Ll N
SO L
fp W 1 Z g
P 1O
YA, el
f“lj“/ & iz -
Yok wix | ¥
Tlndect™

NOTE:

Sidelite screws (item #22) located at
3", 5.5, 8" 18", 28", 39", 50", 61", 72",
82" and 92" from bottom of panel.

1/

EXTERIOR
44
61
7 ’
N
89 :
INTERIOR 67

/~ 4"\ HORIZONTAL CROSS SECTION

w Inswing shown - outswing also approved

uf
[
s (7]
20 v  HB
£= g ge
vy oM BT
2 HEs g%
[*] i
T %2389 33
5 L8 GE
3 J45e @0
335 fe
. &8% g?
& ON: Ef
) o xz ,°©
@ z 2 Ol
[ —mIJ (=)
g 3.5 o
e 5Qc¢ oK
o Mmoo og
s =
£
; S
g kO
0
(=]
w
=
o
o
0
S &
o8
73]
&
o .38
EER:
REN
oo ] ;5:1
Ly v =
m | =
I Tl IS
= o E
S o| x
a o
2l |ET
o o
>
m
%)
=
(=}
=
o
=
<
()
o
=
DATE: 04./13/10
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4073

SHEET _5 oF 11

© 2010 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, 2-6

INTERIOR

/i

EXTERIOR

/ 70
é
U —
J ) woobD
P ) CONCRETE

7“2\ VERTICAL CROSS SECTION

w Inswing configuration

e

T

DRYWALL \

—
2

INTERIOR

—O
-

C'SINK —=|
{TYP.)

=®)

EXTERIOR

71"\ VERTICAL CROSS SECTION

w Inswing shown - outswing

also approved

INTERIOR

EXTERIOR

/ 3"\ VERTICAL CROSS SECTION

\f/ Shown w/ ADA threshold

/ EXT. SHEATHING

INTERIOR

/“4 "\ VERTICAL CROSS SECTION

w Outswing configuration

Li
x\.\'\.\.\l\l ) o
Siel ply  O[83 o
Sxiatldy e  w i
;’ _.'.'EE: ., -I:at= % %E
:: lq-.-. . : 3 . o ) o
,-'A'\".‘ o Lt zn z |
~ 0y Wk £ N §u
b= HZH FE® w
G bt s £.5 3,
S i o 0O
0 121 c¥ EZ£4 68
G W 101 b JS5¢° b
g, 10 3>y EE
d')l(".._”:..?-:"‘ ) L EQw guv
aerin T E g 88% Eg
11\1\-\'-.-\'\'\'_'3' o x% (74
i o z [+] LI.L
® Zmy OY
g 345 2
= A
5 moo gg
m
2 S ik
s iz
g Wo
g
w
=
2
('
S D
9 7]
SQ
w)
4 = &8
U)S m| &k
SC._') = O
(AW ]
B (9 <
N~
5 8| &
=
(] = =
2 |k
o o
5
m
EXTERIOR
y/i
17}
=
o
(w0 2
&l
[nd
=
S
o
=
DaTE: 04./13/10
SCALE:  N.T.S.
o CONCRETE owe. B JK
CHK. BY: LFS
DRAWING NO.:
TX—4073

SHEET _6 oF 11

© 2010 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, 2-7

INTERIOR

EXTERIOR

\

1]

\

WOOD
CONCRETE

/" 2"\ VERTICAL CROSS SECTION

w Inswing configuration

\

O yan 1

~T.. 1Y

DRYWALL \ et

EXT. SHEATHING

\

L

B &
&

INTERIOR

}Jpé

0.15"
C'SINK
(TYP.)

m VERTICAL CROSS SECTION
w Inswing shown - outswing

also approved

INTERIOR

=@

EXTERIOR
I/

INTERIOR
/i

£

AV
€ OF }‘1

-..'D'?‘:L
S

*

'C:“',(“‘»...‘_, eeven,,

L 4
-
—~
—

=l o
W dapaosy

NOTE:
1. Screws thru head and sill

jomb located 3" from each
end and on center line.

EXTERIOR

/@S%ETE 1 @@

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO
FIBERGLASS DOOR
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

BY

"3\ VERTICAL CROSS SECTION
W Qutswing configuration

/ 4\ VERTICAL CROSS SECTION

W Outswing configuration

REVISIONS

2
S
S
=
0

DATE: 04./13 /1

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4073

SHEET _7 oF 11

© 2010 R.W. BuIlLDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, 2-8

ANy, 1 E o
ool S T i 1] 3
2X FRAMING TO BE DESIGNED BY | SeteiBi9h J[88 | R
THE ENGINEER OR ARCHITECT OF gav 17 £% 2 4g
RECORD BASED ON WIND LOADS o] MG ou g3 27
AND THE CLADDING BEING USED. i gRinizs 2FN[%e 468 La
Zon VIS &32N|83 Bed 32
CF Fuy : ; 2 22 GO
v _ s, iME % 5" HE8 aE
‘3‘,(5;,— ..... b b >0 QE
| 0 " i <, E E' ¥ - Z 0w 0
7 o ¢ T e & SNy Eﬁ
7 3 2E% 5.
e = I E goe °6
! LR E 1 § 392 2u
. i / & oo 55
ik [ T 7 : 2 E
: I SEE DETAIL ° 2 E X gﬁ
ll2l| g
M y o
—! | e
& . . TYP.HEAD & | - o N
= JAMBS ‘ ’ g
& <)
1 , S | £
/ ox S
() Wlln H - / n
: 8 23 |3 2
X FRAMING HINGE DETAIL LATCH DETAIL é% 5w
=
m |0
i / ASTRAGAL g = | &
s o
: _ soor | = /- SHOWN FOR - 2 e
>_ *
| \ 5 &
] o L). m
Tk = .t :- d =
: — | | = ]
= &
\ l f
= <
2] = 73]
& i - _ i 5
WOOD %
SEE DETAIL | |
: !I‘I " 3/8" D[A.
Eid CONCRETE e
Ll Ly | e i 7
—atw L
L * ' :
3" 3.25"
- O
BN 3/8' DIA. z
HINGE JAMB FRAME ANCHORING ASTRAGAL - HOLE DATE: 04,/13/10
FLOOR SUBSTRATE MATERIAL Inswing configuration Outswing configuration g JK
WOOD (3.G. >=0.42) ADDITIONAL ANCHOR REQ'D  [DRAWING No.:
FOR D.P. > 40 PSF TX—4073
(WOOD SUBSTRATEONLY)  [See™ 8 o 17

© 2010 R.W. BUILDING CONSULTANTS ING,



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, 2-9

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR

ARCHITECT OF RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED.

et

1]
"
2X FRAMING = 4 p "
AMIN \ 1 E i 6 a-l 6
e |
[ TT[T1 TR 1 TT{[[T1 1
o . L —
L : _| | ‘ SEE DETAIL
‘ TYP. 1 z
2 Y | TYP.HEAD & — MBLLONG || —
= JAMBS I
o™~
L I
EE] B B | ASTRAGAL o
| f SHOWN FOR
I REFERENCE ONLY
& 1 i
i i | I
|7
| e |
: ] FRAME s - ‘ ’ —
| |
< |l 3 _ I L
J' SEEDETAL || o wOOoD
e
ik | CONCRETE
. - § i § i TYP. SILﬂL( _ §
L e BRI EEE e B R A A e N | 1
T D
HINGE JAMB FRAME ANCHORING o
XX
3/8" DIA.
FLOOR SUBSTRATE MATERIAL HOLE
CONCRETE (MIN. 3000 PS|| |
WOOD (5.G. >= 0.42) d $
= e
— - 3.25"
in 3/8" DIA.
* ADDITIONAL ANCHOR REQ'D 2 HOLE
DETAIL 1 DETAIL 1

FOR D.P. > 40 PSF
(WOOD SUBSTRATE ONLY)

QOutswing configuration

Inswing configuration

14.5" MAX
0.C. (TYP,)

|
]9”4—l

e[ ]=
S—’
I

33"

24.25"

ASTRAGAL

4 3
o 4 -k. oy & }b ]
S D et Q1 G, (N
o S AR A
s v T s, |)
"‘f-..{ s 0
- PO im o 2O
5;:13; P00 iey h W g
O Pt ot
B Six EE
% asr e fo =
{-"r"- iISi- 9958
4
NI = S
P «xkf Pt -
iS5 § PR o

2%

VAR

545

FIBERGLASS DOOR

-

A°

#

HINGE DETAIL

LATCH DETAIL

L
oy
B
e )
T
B o 59
B @ o
S .8 Z-
Nu OM oF
- Z =
h:ﬂ. = N bk
& 'E-Ig &|=I=
2 Egz =z
= Len C0O
E B0 bk
3 cQ @
>>m 0
o~ 2 =
Z Owm o
om T
& UN;; £8
oxz ,F
o o Lo
Zm oL
2 §%s% %6
8 =gc 9
o 59Qc¢ %E
& 0on 3%
: X e
=
P Sk
(5]
3 e
o
a

PLASTPRO
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NO. DATE

oaTE: 04./13/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY:

LFS

DRAWING NO.:
TX—4073

SHEET _9 oF 11

© 2010 R.W. BuiLDiNG CONSULTANTS INC.



‘ON| SLNVLINENDD aNIQUNE "M'd OLOZ g

ZSBLL—d # NOWVMLSIOZY 40 ILvOLILNIO STvIIa ¥I07 SNOISIAIY ;
SYIINION IWNOISSI40Md 40 Quvoa SvX3L INIOA—LII0N % VOvALSY Ad 41vd [ON ol . ol . ..._
L6L6'689°CLE "ON ®uoyd ; NSy X
SBEEC 13 COUIBA GPE 08 “O'd \Sq@. NTEW3SSY 80 1¥vd 4} M = Q &
‘ONI *SINVLINSNOD ONITING V 2 | O_
4004 SSY1943814 o| . |&|&le |
SZIPOLF "T'd SYXAL 0dd1SY1d i .m sl|E m
3'd WPIUYyas 4 uopui :Ag pedodedq sjuswinoogq :1onadodd 28 W 5 m &
in
55
in o
L1 , .
® o # \ o
o } o5 o 8
~ ], M % 5
Y = :_/u.ma Q mUN
~ ~ M.Ql/. - m ...an nHuuu
o =R
® g % = 2 w..m.m
i & Saas
° 5 o Al=2
2 3
o) (o]
N | =e)
1| 5
/ .
- o
R — ﬁ 0500 J]l
a ™~ (%)
> 8 21570
1~ 5 @ - I
\ (W] |+| & % H ]
2 S =
= & Q
: *
& : i
& oy AR o
3 o 4 =
2 * b E
g 5
® << &
[N
Q)
~d[ |, [N g
S F ﬂ O
. ~~
N W W£L5°0 —= [ @
o < aL!
A % O
3 i
: &
i X ™ R o)
~8 3 o >
o~ =1 o m
(=]
in -
o ! S
4 -
T o =13
o Yz
| = @
_ll| :wm.N P
e
8l
==
o
=3
NE
5|
>0
==
®
]

07-T ‘BMPdINL 94 0-8 X1\0T0Z SwxIL\sBumelq Damy ‘a\zTST 4d\009T - T0ST [oad\siepiod 108(04d\s198{04d - VADaMU\EAZSAs\\



BILL OF MATERIALS
ITEM DESCRIPTION MATERIAL
A | 2X HEADER FRAMING SG >= 0.42 WOOD
B [ 2X FRAMING 3G >= (.42 wOOQOD
C | 1/4" MAX. SHIM SPACE -
J | #10 X 3" PFH WOOD SCREW STEEL
K | 2X REINFORCEMENT (CLEAR PINE SG >= 0.42) WwOOD
L | #10 X 2-1/2" PFH WOOD SCREW STEEL
M | #8 X 2-1/2" PFH WOOD SCREW SEEL
P | 1/4"PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
Q | 3/16" PFH TW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
3 | ASTRAGAL STRIKE PLATE STEEL
5 | #10 X 3" PFH SCREW STEEL
6 | SEALANT . SILICONE
7 | WEATHERSTRIP BY Q-LON FOAM
9 | 4'HINGE STEEL
10 | #9 X 3/4" PFH WOOD SCREW STEEL
20 | JAMB FINGER - JOINT - PINE (SG >= 0.42) WOQOD
21 | POLY FIBER JAMB POLY FIBER
22 | #7 X 2" PFH DRYWALL SCREW STEEL
29 | SIDELITE SPACER PVC
30 | DOOR SWEEP ALUM.
35 | TRIM wOoOoD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
61 | CONCEALED STIFFENER 6063-T6 BY PLASTPRO ALUMINUM
62 | SLIDE BOLT ROD STEEL
63 | #8 X 2" PPH SMS STEEL
64 | ASTRAGAL 6063-T15 ALUMINUM BY DLP ALUMINUM
65 | MULTI-POINT LOCK ASSEMBLY TRILENNIUM BY W & F -
66 | #10 X 1-1/2" PFH SCREW STEEL
67 | BACKING PLATE STEEL
69 | MULTI-POINT STRIKE PLATE STEEL
70 | INSWING THRESHOLD BY DLP ALUM. / WOOD
71 | ADA THRESHOLD BY DLP ALUM.
72 | OUTSWING THRESHOLD BY DLP ALUM. / WOOD
73 | SIDELITE THRESHOLD BY DLP ALUM. / WOOD

CONCRETE ANCHOR NOTES:

distance and cenfter distance requirements.

3. Concrete anchor table:

I. Substitution of equal concrete anchors from a different supplier may have different edge

2. Concrete anchor locations at the corners may be adjusted fo maintain the min. edge
distance to mortar joints. If concrefe anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required fo ensure the "MAX. ON CENTER" dimensions are not exceeded.

W 3/16" 1-3/4" 2-5/8" 2-1/4"
1/4" 1-3/4" 2-1/2" 3"
ELCO 1/4" 1 -3/4" 'I" 4"

|

1.25"

HEAD & SIDE
Jamb

4.56"

(e

U

] s [—

4.56"

@ INSWING THRESHOLD

Lﬁ“ﬂ g
( : ) ADA SILL

#

S

i

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

SOV
e A b ]
ForiQL.0%
SxT 18l
g iL: vz
oy Qi OLw
&7 Mripioe W
HL‘ - - s g e
2ol ymiwiy 2ZIZ
701 Py =
gwi ' IZiS &9
Ovas, 2F Fa
G, (2 &l
[/ A 2o
[ el Y bt HR AP
MR

fg —-= 4.56" — E
- o
( :: ) HEAD & SIDE
Poly fiber jamb
i 5
(= I -
! 4.56" J‘ f

@ OUTSWING THRESHOLD

4.62" -—fi

( : ) SIDELITE THRESHOLD

1.30"

P.0. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone Neo.: 813.659.9197

Document=s Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO

FIBERGLASS DOOR
BILL OF MATERIALS &

PART OR ASSEMBLY:

PRODUCT:

COMPONENTS

REVISIONS

L
<C
[}
S
=
0

DATE: 04./13/1

scALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—4073

sHEeT 171 oF 11

\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 8-0 FG IMP.dwg, 2-11

© 2010 R.W. BUILDING CONSULTANTS INC.



